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Part 1: Building a Foundation

What is the general form of the slope-intercept equation?

undefined. A) y = ax + b
undefined. B) y = mx + b ✓
undefined. C) y = bx + m
undefined. D) y = mx - b

The correct answer is B) y = mx + b, which represents the slope-intercept form.

Which of the following are components of the slope-intercept form?

undefined. A) Slope ✓
undefined. B) Y-intercept ✓
undefined. C) X-intercept
undefined. D) Quadratic term

The correct answers are A) Slope and B) Y-intercept.

Explain what the slope m represents in the slope-intercept form of a line.

The slope m represents the rate of change of y with respect to x, indicating how steep the line is.

Identify the slope and y-intercept in the equation y = 3x + 7.

1. Slope:
3

2. Y-intercept:
7
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The slope is 3 and the y-intercept is 7.

If the slope m is negative, what does this indicate about the direction of the line?

undefined. A) The line is horizontal.
undefined. B) The line is vertical.
undefined. C) The line slopes upwards.
undefined. D) The line slopes downwards. ✓

The correct answer is D) The line slopes downwards.

Part 2: comprehension and Application

Which point does the line y = 2x + 5 cross the y-axis?

undefined. A) (0, 2)
undefined. B) (0, 5) ✓
undefined. C) (5, 0)
undefined. D) (2, 0)

The correct answer is B) (0, 5), which is the y-intercept.

Which of the following equations are in slope-intercept form?

undefined. A) y = 4x - 3 ✓
undefined. B) 2x + 3y = 6
undefined. C) y = -x + 2 ✓
undefined. D) x = 5y + 1

The correct answers are A) y = 4x - 3 and C) y = -x + 2.

Describe how you would graph the equation y = -\frac{1}{2}x + 4 on a coordinate plane.

To graph the equation, start at the y-intercept (0, 4) and use the slope to find another point.

Convert the equation 3x - y = 9 to slope-intercept form.
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1. Slope-intercept form:
y = 3x - 9

2. Slope:
3

3. Y-intercept:
-9

The slope-intercept form is y = 3x - 9, with a slope of 3 and a y-intercept of -9.

What is the slope of a line parallel to the line represented by y = -3x + 7?

undefined. A) 3
undefined. B) -3 ✓
undefined. C) 0
undefined. D) Undefined

The correct answer is B) -3, as parallel lines share the same slope.

Part 3: Analysis, Evaluation, and Creation

Analyze the equation y = 5x - 2 and describe how changing the slope to 7 would affect the graph of
the line.

Changing the slope to 7 would make the line steeper, increasing the rate of change of y with respect
to x.

Which of the following statements are true about the line y = -x + 4?

undefined. A) The line has a positive slope.
undefined. B) The line passes through the point (0, 4). ✓
undefined. C) The line is decreasing. ✓
undefined. D) The y-intercept is -4.

The correct answers are B) The line passes through the point (0, 4) and C) The line is decreasing.

If two lines have the same slope but different y-intercepts, what can be said about their relationship?
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undefined. A) They are parallel. ✓
undefined. B) They are perpendicular.
undefined. C) They intersect at the origin.
undefined. D) They are the same line.

The correct answer is A) They are parallel.

Evaluate the impact of doubling the slope in the equation y = \frac{1}{3}x + 2 on the steepness of the
line. Explain your reasoning.

Doubling the slope increases the steepness of the line, making it rise more quickly as x increases.

Create an equation in slope-intercept form for a line that passes through the point (2, 3) and has a
slope of 4.

1. Equation:
y = 4x - 5

2. Y-intercept:
-5

The equation is y = 4x - 5, with a y-intercept of -5.

Design a real-world scenario where using the slope-intercept form would be beneficial. Describe the
situation and how the equation would be used to solve a problem.

A scenario could involve predicting costs based on a fixed rate, using the slope-intercept form to
model the relationship.
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